
JUEGO 
DE DADOS Y 

ACCESORIOS.

CÓDIGO PIEZAS

54120 19 1 15 3 1



Nº CÓDIGO DESCRIPCIÓN

3/8" 5412 Dado 1/2" 12 puntas 3/8"

7/16" 5414 Dado 1/2" 12 puntas 7/16"

1/2" 5416 Dado 1/2" 12 puntas 1/2"

9/16" 5418 Dado 1/2" 12 puntas 9/16"

5/8" 5420 Dado 1/2" 12 puntas 5/8"

11/16" 5422 Dado 1/2" 12 puntas 11/16"

3/4" 5424 Dado 1/2" 12 puntas 3/4"

Nº CÓDIGO DESCRIPCIÓN

13/16" 5426 Dado 1/2" 12 puntas 13/16"

7/8" 5428 Dado 1/2" 12 puntas 7/8"

15/16" 5430 Dado 1/2" 12 puntas 15/16"

1" 5432 Dado 1/2" 12 puntas 1"

1 1/16" 5434 Dado 1/2" 12 puntas 1-1/16"

1 1/8" 5436 Dado 1/2" 12 puntas 1-1/8"

1 3/16" 5438 Dado 1/2" 12 puntas 1-3/16"

Nº CÓDIGO DESCRIPCIÓN

1 1/4" 5440 Dado 1/2" 12 puntas 1-1/4"

1/2” X 10 1/8" 5449 Matraca 1/2" reversible

1/2" X 5" 5461 Extensión de 1/2" x 5"

1/2" X 15 3/4" 5467 Mango articulado 1/2" x 15-3/4"

5495 Caja metálica

CONTENIDO


